





**ABSORPTION OF A HH PHOTON**  

$$II - \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$II - \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = F_X(t) + F_L(t)$$

$$I = \frac{p^2}{2} + V(r) + zF(t) \qquad F(t) = \frac{p^2}{2} + \frac{p^2}{2} +$$



**ABSORPTION OF A HH PHOTON**  

$$|\Psi(t)\rangle = \sum_{\alpha} a_{\alpha}(t) |\alpha(t)\rangle + \int d\vec{k}b(\vec{k},t) |\Psi_{\vec{k}}(t)\rangle$$

$$b(\vec{k},t) = -iz_{\vec{k}i}\tilde{F}_{X}(t,E_{\vec{k}}-E_{i})$$

$$= -z_{\vec{k}i}F_{X}e^{-i(E_{\vec{k}}-E_{i}+\omega_{X})t/2} \left(\frac{\sin\left(E_{\vec{k}}-E_{i}+\omega_{X}\right)t/2}{(E_{\vec{k}}-E_{i}+\omega_{X})/2}\right)$$

$$|b(\vec{k},t)|^{2} = F_{X}^{2}|z_{\vec{k}i}|^{2}|\tilde{F}_{X}(t,E_{\vec{k}}-E_{i})|^{2}$$

$$= F_{X}^{2}|z_{\vec{k}i}|^{2} \left(\frac{\sin\left(E_{\vec{k}}-E_{i}+\omega_{X}\right)t/2}{(E_{\vec{k}}-E_{i}+\omega_{X})/2}\right)^{2}$$

$$\Rightarrow \lim_{t\to\infty} |b(\vec{k},t)|^{2} = \pi t F_{X}^{2}|z_{\vec{k}i}|^{2} \delta\left(E_{\vec{k}}-E_{i}+\omega_{X}\right)$$
 Fermi's Golden Rule



For the case of a hydrogenic atom, the quantum Coulomb scattering wave is:  $\begin{cases}
\Phi_{f}(t) = \Phi_{\vec{k}}(\vec{r},t) = e^{-i\varepsilon t} \frac{e^{i\vec{k}\cdot\vec{r}}}{(2\pi)^{3/2}} D_{c}(Z,\vec{k},t) \\
D_{c}(Z,\vec{k},t) = N_{T}(k) {}_{1}F_{1}\left(-i\frac{Z}{k},1,-ikr-i\vec{k}\cdot\vec{r}\right) \\
N_{T}(k) = e^{\frac{\pi Z}{2k}}\Gamma(1+i\frac{Z}{k}); \quad Z \text{ is the ion charge}
\end{cases}$ The asymptotic behavior of the final state is  $F_{\ell}(Z,k) \rightarrow \sin\left(kr + \frac{Z}{k}\ln(2kr) - \frac{\ell\pi}{2} + \sigma_{\ell}(k)\right)$ The asymptotic behavior of the outgoing Coulomb wave is given by  $|\Psi^{(1)}\rangle \sim e^{i\left(kr + \frac{Z}{k}\ln(2kr) - \frac{i\pi}{2} + \sigma_{\ell}(k)\right)}$ 



$$\begin{array}{|c|c|c|} \hline \textbf{Exchange of A proble photon} \\ \hline \textbf{II} = \frac{p^2}{2} + V(r) + zF(t) \\ \hline \textbf{F}(t) = \textbf{F}_X(t) + \textbf{F}_L(t) \\ \hline \textbf{II} = \frac{p^2}{2} + V(r) + zF(t) \\ \hline \textbf{F}(t) = \textbf{F}_X(t) + \textbf{F}_L(t) \\ \hline \textbf{2}^{nd} \text{ order perturbation theory:} \\ \hline \textbf{Absorption/emission of one NIR photon} \\ |\Psi^{(1)}(t)\rangle = \sum_{\alpha} a_{\alpha}^{(1)}(t) |\alpha(t)\rangle + \int d\vec{\kappa} b^{(1)}(\vec{\kappa},t) |\Psi_{\vec{\kappa}}(t)\rangle \\ |\Psi^{(2)}(t)\rangle = \sum_{\alpha} a_{\alpha}^{(2)}(t) |\alpha(t)\rangle + \int d\vec{\kappa} b^{(2)}(\vec{k},t) |\Psi_{\vec{k}}(t)\rangle \\ b_{f}^{(2)}(t) = -i \int_{-\infty}^{t} dt' F_L(t') \langle f(t') | z | \Psi^{(1)}(t')\rangle \\ = -i F_L z_{f\Psi} \int_{-\infty}^{t} dt' e^{i(E_f \mp \omega_L - \omega_X - E_i)r'} \\ = -i z_{f\Psi} \tilde{F}_L(t, E_f \mp \omega_L - \omega_X - E_i) \\ \lim_{t \to \infty} b_{f}^{(2)}(t) = -i z_{f\Psi} F_L 2\pi \delta \left( E_f \mp \omega_L - \omega_X - E_i \right) \end{array}$$

**Departments de Fisica**  
**EXCHANGE OF A PROBE PHOTON**  
We use (i) the random phase approximation and (ii) adiabatic switch on  
of the probe pulse  

$$\begin{aligned}
\underbrace{F_L(t, E_{\vec{k}} - E_i) &= \lim_{\epsilon \to 0^+} \frac{F_L}{2} \frac{e^{i(E_{\vec{k}} - E_i - \omega_X \mp \omega_L)^{t + \epsilon t}}}{E_{\vec{k}} - E_i - \omega_X \mp \omega_L - i\epsilon} \\
&= \frac{F_L}{2} \left( \wp \frac{1}{E_{\vec{k}} - E_i - \omega_X \mp \omega_L} + i\pi\delta \left( E_{\vec{k}} - E_i - \omega_X \mp \omega_L \right) \right) e^{i(E_{\vec{k}} - E_i - \omega_X \mp \omega_L)^t} \\
\\
\underbrace{z_{f\Psi}}_{\alpha} &= \langle f \mid z \mid \Psi^{(1)} \rangle \\
&= \sum_{\alpha} a_{\alpha}^{(1)}(t) \langle f \mid z \mid \alpha \rangle + \int d\vec{\kappa} b^{(1)}(\vec{\kappa}, t) \langle f \mid z \mid \Psi_{\vec{\kappa}} \rangle \\
&= i \frac{F_X}{2} \left[ i\pi z_{\vec{k}\vec{\kappa}} z_{\vec{\kappa}i} + \int d\vec{\kappa} z_{\vec{k}\vec{\kappa}} z_{\vec{\kappa}i} \wp \frac{1}{E_{\vec{k}} - E_i - \omega_X} + \sum_{\alpha} z_{\vec{k}\alpha} z_{\alpha i} \wp \frac{1}{E_{\alpha} - E_i - \omega_X} \right]
\end{aligned}$$



























